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Section 1

Question 1
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The following or similar:

1 mark (AO2)

Any three of the following or similar:

* famw

* ARk

o ARG gamt / AR o “iw

o SITTR *It (Y TR FIIF (2B (& FH7 /oraifis wanrast
o JRIYIE T NSO ATETN ]

3 marks (AO2)

The following two or similar:

o IR FTIM
o I FTR fifisat /0 oo
2 marks (AO2)

Any two of the following or similar. (home)

FRerEm A A g & Rise

T 2 Bibwt -1y we/ fBw/ wiet Rids 3=
@I IR o Rfss 32

7 PR w3 e e ew

A CESF WITT e 1o e R &=

IR IS 4feT TS TG IR Resg caws @ M

® & 6 o o o

Any two of the following or similar: (abroad)

FIEFIE @I AR TEB (AF @A I 2
fAdifts ey & Rers =
‘CIETER T IG IG (AIFIAGTITS RT<F FRIT (e
fAdifds e TR (e
w3 IR A I A

2+2 = 4 marks (AO2)
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€) Any three of the following or similar:

o T8 RIITHA AW FITIGIAG! o117 P @girsw
AATS! SRR AKX QAT AR Afi7 ot =y ¢i4rs

[ ]
* IATEIR TR TS
o IITER TR TR 1T ITCS/ AIITTA SR e GHRC TR ToArtst TS
o TNITS! AT /S7F N AN HYF0SF
3 marks (AO2)
Total for question = 13 marks (AO2)
Question 2

Any five appropriate sentences. The following sentences are given as possible responses:

o «3fb It itz caret AR

o (AT OB (ewt

o WIS AA X

o  IfS-RAWI HITR

o (057 TRATE WIS AT

o NfE-IFWR ATA e TR AN

o  (AITAN WP IG IR T

o (YRR TR (UCF (R A WA 53 IS

o RN RIGIE LR (AT BV GBITY TS |

o IRMAM WIGIA (AR I TBIF FAITHR S siteem iz / Rva wqres w0
2 marks (AO2)
3 marks (AO4)

Total for question = 5 marks (AO2 + AO4)
Question 3

One mark should be awarded for each correct answer as given below. The following or
similar will be accepted:

3, R + a correct/appropriate sentence.
9. ey + a correct/appropriate sentence.
. PIA + a correct/appropriate sentence.
q TR + a correct/appropriate sentence.
e wife + a correct/appropriate sentence.

Total for question = 5 marks (AO3)
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Question 4

One mark should be awarded for each correct answer as given below:

I ey | e iR | et
¥, | A e Fafe e v
4. | @_T CHOAR A 7S F6IrS Meare v
A, | ClEe AT G e faf? siw corr wferet ) v
T, | RIS T SReTSt YU ST T OiLF | v
. | CRIBHINT AT ISR TG I TAB! FTRITE Toh FACE v
5. | A I Fea R 8 717 3031 v
T, | 74 (OIRIT 4w ©Y oNeRTE i 3wt v

7 marks (AO2)

Question 5

One mark should be awarded for each correct answer as given below:

/4w AT A @ JIFS W% [ -
T | sAfRenf fewery

3. | fEq R

4. ’ S-S STt

T | AW &R Lic I

9 | @S Y g [fer 3 | wlrearn

e | ofSfw AR

Total for question = 5 marks (AO3)
Question 6

Each correctly completed task should be awarded one mark. Candidates are expected to
attempt both parts of each task in the question to score one mark on offer. The following or

similar will be accepted:

¥) Ao +
q) TFAEfoe +
§) T +
q) /5t +
8) TE/eaw t

a correct/appropriate sentence.
a correct/appropriate sentence.
a correct/appropriate sentence.
a correct/appropriate sentence.
a correct/appropriate sentence.

Total for question = 5 marks (AO2)
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The mark distribution for the questions in Section 1 are as follows:

Q1 - 13marks
Q2 - 5 marks
Q3 - 5 marks
Q4 - 7 marks
Q5 - 5 marks
Q6 - 5 marks
Total - 40 marks
Section 2

For the translation task in this section, the following criteria should be used.

Marks Response to Written Language (A02)

0-1 Little or nothing of merit.

2-4 Shows poor understanding of the original text and translated in a language that
has a very limited range of vocabulary. Errors in spelling, punctuation and
grammar impede comprehension.

5-7 Shows satisfactory understanding of the original text and translated in a
language that has a limited range of vocabulary. Errors in spelling,
punctuation and grammar are intrusive and affect comprehension.

8-11 Shows good understanding of the original text and translated in a language
that has a wide range of vocabulary. Accurate, with only a few minor erros in
spelling, punctuation and grammar.

12-15 Very good understanding of the original text and translated accurately in a

language that has a wide range of vocabulary. Excellent spelling, punctuation
and grammar.

Total for Section 2 = 15 marks
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Section 3

To assess the

in this section,

Response to Written Language (A02) and Knowledge & Understanding (A04)
the following criteria should be used.

Marks Knowledge/Response/Reaction (A02/A04)
0-5 There is little or nothing of relevance. A zero score will automatically result in
zero for the question as a whole.
6-12 A limited number of points made, many for which are vague or irrelevant. No
justification for points made.
13-18 Some relevant points are made, ideas are not clearly organised. Some
reaction is evident, but the points made are not always justified or illustrated.
The answer generally lacks a clear focus.
19-24 The answer is generally on the subject with a number of relevant points, but
not always appropriately supported.
25-30 Relevant points are clearly made. The answer is focused on the question and
offers ideas which are logically and clearly developed. Good personal
reaction, usually justified.

To assess the
used.

Knowledge of Grammar (A03) in this section, the following criteria should be

Marks Knowledge of Grammar (A03)
0-2 Shows very little limited grasp of grammatical structure. Errors are such that
communication is seriously impaired.
3-5 The level of manipulation of structures and the number of errors make
comprehension difficult.
6-8 There is some awareness of structure. There are still basic errors but
communication is generally maintained.
9-12 The manipulation of basic structures is generally sound. There are attempts to
use more complex structures, but not always successfully.
13-15 The knowledge and use of most structures is good. There are still some
inaccuracies, but these are usually in attempts at more complex structures.

Total for Section 3 = 45 marks

Total for Unit 1 = 100 marks






